EARAROBREBRT —5 XN—ZXBISH—F

20226648248 (B) 10154068

M 771+ )LU—Z C1 YS5F—K

BN R

[AE%] 1% :900,000H" ~ 27%&:315,000MW  37%&:180,000 § .~ 43 :135,000H . 57&:90,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
=~ €210 | FEEAER 1:30.0 3-3-3-1 |38.6| — 2 | sy |HPE= (BH)
118l 7E13 K 710 254 ot Loy | @ 1PN
RVIZVES T4 L BH-FIUNSTAR EIE= T W
S <, 4 vy 7 | B 1:30.4 1-1-1-2 [39.2| - 6 49 | BREESH (S3)
29| Ya—~Aur— 7 s @ oy | @ Jr—2bevay
RANTT—IN BT AVRI—T J=HUTr—L
) g\ —— it 4 | KHAE 1:30.6 2-2-2-3 [39.3| - 4 | Me |MEBIEX (B
3/5/5 Ivya—/N\= 34°0 (3/4) *2) ;EEE?E%
Rib—EyYa—FY B:Y3vyz—IHA RHES
» 3 v 9 | BIEEL 1:30.6 6-6-5-4 |38.9| -— 1 483 | MAKEEB) (FAD)
sl 8| (—7ILTTH— 56.0 FI) (3 | PUIET
RRAIAZIF—R B:F—U—FARUAHY #HET7—L
=_\ » 7 | R 1:30.8 7-5-6-5 |39.0| - 3 462 |HBEX (&)
501]1 | Ar==—NO-2 "7 & G | EES
RAWTT—IN B:L—YS5A RTVUR J—YUTIr—L
4 g | LHFE 1:31.0 8-8-7-7 [38.9| — " 476 | BREMEH (B)
6(56| T/IV— 5.0 G/4) o | @ Tr-2bEvay
RPY—N—R 88815 Bo®HKES
ﬁ*:ﬁfﬁ_‘ . i —-0—R—! 3 - ﬁﬁ%;¥_ (%*D)
7lgl1 TR w0 L e ke 5 s
RFHAVITIRY B:ETNUTIL BE =4
e ANEE : -4-4- - tHARE (FX0)
8 v LAIAHY % 6 56.0|_ 1.(311).4 4-4-4-6 | 39.9 10 (5_414) o =
R:7PHOYFYIR B:FUFO-R NET7—L
53 H o8 | BEEKX 1:31.6 12-12-9-9 |39.1| - 5 | 525 |HPE— (B
9 2| FTLSVVDOF 56.0 ) ) 7 P NHHH
RiEY/0704 B:FLSYHD V& SHis
“ 4 6 | BRE—H 1:31.8 10-10-12-10| 39.3 | — 8 464 |EEIEE (S
10Ky 3| 7F0Ov7 56.0 ) 3 | @ MMC
R:AX¥—hOEY #:aVFvd Uy v A U5
° _g 4t 8 | MEE 1:32.0 11-11-11-11] 39.4 | — 7 | 470 | AN (B
1 4 | RII—5 54.0 (3/4) () | BHER
R:007% B:NALAY— VEL VS EIN
ey~ v 6 | BEE 1:32.5 5-7-10-12 [ 40.1| - 9 457 | RECE (FH)
1207110/ O— KD V9 — 56.0 21/2) ) HORERR
RiFVVvH /e BINTDAH— Eiate ]
@ 11— —®BIEfI
10—+— 9,5,11,7,10,8,1,6,12,3,4,2
20—F— 9,5,11,7,1,8,10,6,12,3,4,2
30—7— 9,5,11,7,8,1,6,12,2,10,4,3
43— — 11,9,5,8,1,7,6,12,2,3,4,10
o ILRE
B B 1" 4004 JA R 9-1 1,040M3 % 3= 7-8 1,940 3EE 5-9-11 9,510
7B B 1 200/ 5-11 1,160/ 5 & 9-1 3,080H 3EH 11-9-5 46,760M
9 290H 5-9 1,080 Ba 11-9 4,680
5 320

ABIC OV TRUTEREERRODDZE. THRIIZEL.




